il 2. The perimeter of triangle is 68cm. The longest side

The perimeter of a rectangle is 58 inches. The width is five more is two more than three times the shortest side. The third
than Fhree t_|mes the_length. Write and solve an equation to find side is six less than the longest side. Write and solve an
thedimens ensier thisiectangle: . equation to find the lengths of all three sides.
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3. Three consecutive integers have a sum of ~ Consecutive 1. .
= S integers are Four consecutive integers have a sum
102. What are these three integers? 1 505, _ g :
o e of -78. Write and solve an equation
- \NTEg e to find these integers.
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2.
Three consecutive even numbers have a
sum of 270. Write and solve an equation ., secutive

to find these numbers. even numbers
are 2 apart.
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3.
Three consecutive @umbers have

a sum of 339. Write and solve an equation
to find these numbers.

consecutive
odd numbers
are 2 apart.

B £ 44T £ X+ =339
—SX*:%QQS?Z X=L1]
it

fee L, R (g



